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Part I / YT 1
Mathematics / TUTd

If A and B be two finite sets such that the
total number of subsets of A is 960 more
than the total number of subsets of B, then

n(A) —n(B) (where n(X) denotes the
number of elements in set X) is equal to :

1 2
2
(3
(4

—

)
) 3
) 4
) 6

If A\, and X, are the two values of A such
that the roots o and B of the quadratic
equation, A(x2—x)+x+5=0 satisfy

—+E+E—O then h—j+h—glsequal
B o b }\2 }tl

to:

(1) 536

(2) 512

(3) 504

(4) 488

If (x+iy)2=7+24i, then a value of

1.

I ATNBA IR aq=a W EFASF

e SUAgEAl S e, Bﬁﬁwmﬁgﬁm‘l
ﬁnwﬁ%ﬂaﬁw% ?ﬁ (A)~n(B)

g A, AI A, A% TH & AW € fF fgemt
HHIH A(x2—x)+x+5=0% 9 o, B TH

o J\% }t%
e
(1) 536
(2) 512
(3) 504
(4) 488

A (x+iy)2=7+24i ], @

1 1 1 1
(?‘+\/ﬁ)E —(7’—\/ﬁ)E (7’+\/ﬁ)E —(7’—\/ﬁ)E &1 T °9H
T
(1) -3 1) —3i
(2) 2i @) 2i
@) 6 B) 6
(4) —6i (4) —6i
W/Page 2 SPACE FOR ROUGH WORK / T% & & fou wmg
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4. Let S be the set of all real values of ‘a’ for
which the following system of linear

equations

ax+2y+5z=1

2x+y+3z=1

dy+7z=1

is consistent. Then the set S is :
(1
(2
(3
(4

equal to R

)
) equal to R—{1}
) equal to {1}

)

an empty set

5. For all real numbers x, y and z, the
determinant

2x XY —XZ 1}
2x+z+1 :w:y'—;i:z+3,4fz—z2 1+y

is equal
Soa+1 2xy—2xz 1+y

) zero

) (x-y) (y—2) (z—3)
@) (x-yz) (y—2)

) —xz) (z2—7)

6.  Anurn contains 5 red, 4 black and 3 white
marbles. Then the number of ways in

A S, ‘a’ % Tt arafas AF &1 90=d 8
e fou Yaw gHiwm e

ax+2y+5z=1
2x+y+3z=1
Jy+7z=1
WA (consistent) g =T S ¢
(1) R¥F TR ¥
2) R—{1}F TR &
@) {1} F TWRE
(4) wRwag=at

x, y 991 z & FH FA&fas el & oy,
BSINED

2x XY —XZ Y
2x+z+1 xy—xz+yz—22 1+y
3x+1 2xy—2xz 1+y
TR
(1) AA )

2) (x-y) -2 (z—%)

)
) (-yz) (y—2)
) y—x2) (z—x)

T FHA9 H 5 A, 4 it 991 3 The s © |
Tl 39 wliehl, o0 Fae O 9 4 59 e s

which 4 marbles can be drawn from it so Tehd € foh 570 @ stferen 9 sifereh 3 e
that at most 3 of them are red, is : i WS T :
(1) 455 (1) 455
(2) 460 (2) 460
(3) 490 (3) 490
(4) 495 (4) 495
W/Page 3 SPACE FOR ROUGH WORK / % & & fou s
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7.  If the digits at ten’s and hundred’s places
in (11)2916 are x and y respectively, then
the ordered pair (x, y) is equal to :

1) (1, 6)
(2) 6 1)
3 61

4) (1L 8)

8. Letay, a, a3, ay a; be a G.P. of positive
real numbers such that the A.M. of a, and
a, is 117 and the G.M. of a, and a, is 108.
Then the A.M. of a; and a5 is :

1) 108
@ 117
(3) 1445
(4) 1455

9, If the sum of the first 15 terms of the series

FfE (11)2016 § 27T o Hhe & I T HI:
Wxﬁﬂﬂy%,ﬁ%ﬁﬂw (x,y)W%:

1) (1, 6)
2 (61
@) @1
4 @3

R ay, Ay, Ay, 8, AT a; Th HTcHb CIESIEES
Al WE 117 § A4 a, 97 a, I UM
H1e (G.M.) 108 &, I a; 9UT a5 1 HHIW
e ¥

(1) 108

2 117

(3) 1445

(4) 1455

qfe M 3+7+14+24+37+ ..... F 9YH

3+7+14+24437+ ... .. is 15 k, then k 159Q HARTI5k 8, T k AR T
is equal to :
1) 122 1) 122
2) 81 (2) 81
3) 119 (3) 119
4) 126 4) 126
W/ Page 4 SPACE FOR ROUGH WORK / T% @14 & few g
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log (sin 7x + cos 7x)

10.  Jim equals :
x—0 sin 3x
%
1 3
14
@ =
1
® 3
1
4) —log7

11. If the function f: R — R, defined by
ax, x <2
X)) =
fx) axz—bx+3, x =2

is differentiable, then the value of
f'(=3)+f'(3) is equal to :

1) 3
@) 4
15
G) 5
4 0

12. The sum of the abscissae of the points
where the curves,
y=kx%+ (5k+3)x+ 6k +5, (keR), touch

the x-axis, is equal to :

10.

11.

12,

log (sin7x + cos7X) gy -

lim

x—0 sin 3x
% L
L 3
, 14
@ 3
1
G 3
(4) %log?

IiE ®weH f: R > R, S

ax, x <2

Y o=
fx) {axz—bx+3, x =2

g1 uftwrfug 2, stawadg g, @
f(=3)+f'B)FHAAT :

(1) 3
(2) 4
15
G 5
4) 0

37 feigeil & x-Frdwet =1 dm, <=l a6
y=kx2+ (5k +3)x + 6k +5, (keR), x- 38T
% WY BT, ©

19 19
0 3 1) 3
10 10
2 3 @ 3
5 5
® 3 S
4 4
@4 3 @4 3
W/Page 5 SPACE FOR ROUGH WORK / % & & feu s
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13. Water is running into an underground | 13. T YA e Juild aawR ahi, S 10 HI.
right circular conical reservoir, which is e aT foeh STHR &t 591 5 i, %, o gt
10 m deep and radius of its base is 5 m. If M@ g1 fe It & T & e | IRadq
the rate of change in the volume of water i %ﬂ_ 3 /f, 3, o o ¥ w0 aRad
in the reservoir is %TI’ mB/Uﬁn.,then the a?rat(cﬁ./ﬁ.ﬁ'), e et =R 4T B
rate (in m/min) at which water rises in it, E
when the water level is 4 m, is :
3 5
M 3 1) 3
1 i
2 3 @ 3
1 1
G 7 G 7
3 3
@4 3 4 3
X2 X2
14. The integral dx | 14. HHRA dx SR
& I(x2+3x+3)dx+1 I(x2+3x+3)Jx+1
is equal to : T
2 tan~? = +C . M +C
N /A Sx+1) N J3(x+1)
e . 2l lig
2 7 J(x+1) 2 3 V3(x+1)
2 1| X 2 1| X
3) ﬁcot [ I+1j| + C 3) ﬁcnt [ I+1j| + C
(4) ﬁﬂﬂt [\/mjl + C (4) ﬁCDt m + C
(where Cis a constant of integration) ( STel C ek HHIe =R § )
W/ Page 6 SPACE FOR ROUGH WORK / T% &4 & [0 W g
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T4 T4
_ dx ‘ dx
15. The integral 1 +m isequalto: | 15, HHI%A 1+ m TR §
Va4 724
™ ™
® 3 b 3
™ ™
2 1 @ 1
v i
® 3 ) 3
m m
) 15 4 15
16. If the line, y=mx, bisects the area of the | 16. e @l y=myx, &
region
{(x,y):0=x= %, D£y51+4x—x2}f then {(x,y):0=x< ;, Dﬂy51+4x—x2}aﬁ ol
m equals : TAER A A A St §, A m A AA L
9 9
® 3 M 3
13 13
@ @ 3
13 13
) ©G) &
39 39
@ 15 @ 15
W/Page 7 SPACE FOR ROUGH WORK / T% &1d & ferg s
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17. The order and the degree of the differential | 17. 37 @I <regai, T %= qo g g, <

equation of all ellipses with centre at the i
B . . 18, x-378 T e 6 ¥ 7o b V2 % %
origin, major axis along x-axis and 5

eccentricity ﬁ are, respectively : STAHT HHIHUT T i T =T HH: % :
2

1) 11 1 1,1

2 21 2 21

@ L2 @) 1,2

“4) 22 4 2,2

18. If an equilateral triangle, having centroid | 18. T& ¥HeTg f[w, o &= 7 f5ig &, =t

at the origin, has a side along the line, Teh YTl @l x+y=2 &l feam | %‘, i ﬁ[ﬁ
x+1=2, then the area (in sq. units) of this = YAFA (T TREAH) © -

triangle is :

1 o 1) 6

2) 6V3 2 6V3

@ 23 G 23

4 3J6 4) 3J6

19. The equation of the circle, which is the | 19. 38 I 6 HHIHW, S Jd x2+y2—2x=0
mirror image of the circle, x2+y*—2x=0, H @ y=3—x | 90 gfafea B, % :

in the line, y=3 —x is :

(1) x22+y2—6x—8y+24=0 (1) x2+y2—6x—8y+24=0

(2) x2+y?—8x—6y+24=0 (2) x2+y*—8x—6y+24=0

3) x2+y?’—dx—6y+12=0 3) x2+y?—dx—6y+12=0

(4) x*+y?>—6x—4y+12=0 (4) x*+y?>—6x—4y+12=0
W/ Page 8 SPACE FOR ROUGH WORK / T% &4 & [0 W g
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20.

21.

The product of the perpendiculars drawn

2 2
from the foci of the ellipse, % e . S 1

25
upon the tangent to it at the point

3 543
2’ g | ISt

1 9

® T

@) 18

Which one of the following points

does not lie on the normal to the hyperbola,

2 2
* Y _1 drawn at the point
16 9
(8,34/3)?

20.

21.

aﬁqa§+£:1 1 T @ T fag

[% #]wﬁﬁﬁ@%mwﬁnﬂ

Adl 1 HEFRA ©

1 9

18
@ T

(3) 18

4) 3413

fam 7 |/ wiv-w fag sfamaad

2 ol .
E—%=1 % fag (8,3V3) W T T

Sfeie T feea & 2 2

o (53

o (23

3) (11, V3) 3) (11,43)
(4)  (10,4/3) (4) (10, V3)
W/Page 9 SPACE FOR ROUGH WORK / T% &/ & fog sme
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22. If the shortest distance between the lines
X+2N=2y=—12z, x=y+4x=6z—12\ is

42 units, then a value of A\ is :
1 2

(2)
(3)

ol

(4)

23. The perpendicular distance from the point
(3, 1, 1) on the plane passing through the
point (1, 2, 3) and containing the line,

M AN

A A
+ 7 +NQ2i + ] +4k), is:

— A
I: =1

22

23.

qfe @S x+20=2y= —12z,

X=y+4r=6z—12\ % = =TaH U 42
THRE AANFTHAFR :

(1) 2
2 V2
®) 242
(4) %

fig (3,1, 1) @ T wwaa, = 55 (1,2,3) A

BHY FEa1 7 oqgr g 9 T
o M M M M M
r=i+4j+NQ2i+j+4k) @y W

@) ()
(4) (4)
24. Three vectors :f E} and E} are such that | 24. #q wfes ; "Q qT ? i 2 %
‘——}| —}‘ —>| 3 = —
al=1, |b| =2, [c[=4 and ‘a =1, |bl =2, |lc|l=4 dqHA
;+E}+E}=E.Thenthevalueof :+E+?=6}%ﬁﬁ
- = - — - = - = - - - =
4a‘b +3b-c +3c-a isequalto: 4a-b +3b-c +3c-a FIAAT
(1) —68 (1) -—68
(2) —26 2) -26
3) —34 3) -34
4) 27 (4) 27
W/ Page 10 SPACE FOR ROUGH WORK / T% @14 & T s
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25. Two numbers are selected at random | 25. WYHS: Wﬁﬁﬁﬁﬁﬁﬂ@r& (farm1 gfazemgmn
(without replacement) from the first six %) Agod IHl M1 Il X SHI H | B
positive integers. If X denotes the smaller & &I Yl &ar §, @ X I TR
of the two numbers, then the expectation (Expectation) e
of X,1s:

L, 1 L,
V3 1 3
13 13
& 3 &
7 7
G 3 G 3
5 5
4 3 4 3

26. If A and B are two independent events | 26. gfg A 99T B €1 TEdd HEHT@ Q‘Eﬁ T =
such that P(A) = % and P(AUB) = %, P(A) = % a4l P(AuB) = % g,
then P(A nB) is equal to : P(A N B) s K
1) ) -

M) 1) 3

2 - )
@ 10 2 10
3 = 3
B 11 ®) 1
y = y =
4) 35 4) 35

W/Page 11 SPACE FOR ROUGH WORK / T% @14 & T s
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27. A bag contains three coins, one of which
has head on both sides, another is a biased
coin that shows up heads 90% of the time
and the third one is an unbiased coin. A
coin is taken out from the bag at random

27. T& 9t H o o €, o 9 1@ & 31 3R
for 8, gaU fagt 31fd (biased) ¥ f59 W
o 90% &R wehe Bl € SR AU s
fagm 21 9o § 9 = fage ag=san e
L ITTEA 711 g g W fad 7w &1,

and tossed. If it shows up a head, then IH& AT TRt g @t Wi € ¢
the probability that it is the unbiased coin,
1S :
5 5
D 33 1) 15
5 5
2 o 2 o1
3 : 3 >
® ® 5
y > y
@ 3 @ <
08 THEVAHEH e ¥ e is: | 28 Lt T
' ¢ VAMEOl c0s285° | 3 sin255° " c0s285° /3 sin255° '
1) 2v2 1) 2v2
, A2 ) 42
2 73 2 7
3 3
4) 3-42 4) 3-42
W/Page 12 SPACE FOR ROUGH WORK / T% @14 & T s
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29. An observer standing at a point P on the | 29. U& PG = &% i feerd Teh q’tﬂ@ﬁ i =l
top of a hill near the sea-shore notices that P 9 @2l B Tk STETsl hl STTHA 10T 30°
the angle of depression of a ship moving a1 T | SR s 99H 97d § T 9 @1 o
towards the hill in a straight line at a RS R AW 45T F o€ I
constant speed is 30°. After 45 minutes, I 45° B W@ 1 gfe g 4 98 T rml'g,
this angle becomes 45°. If T (in minutes) is w1 fog P ¥ 5o &1 37" I 60° T,
the total time taken by the ship to move to T T W e gg (i #) TR @ T
a point in the sea where the angle of TR
depression from P of the ship is 60°, then
T is equal to :
(1) 451 + /3) (1)  45(1 + /3)
2 2
) 45[1 + ﬁj (2) 45[1 ¥ ﬁ)
1 il
(3) 45 2+ﬁ (3) 45 2+ﬁ
1 1
(4) 451+ﬁ (4) 451+ﬁ
30. Which one of the following statements is | 30. 751 ¥ SF-41 %= T i (Tautology)
a tautology ? g?
1) (Pva—q 1) (Pva—q
2) pvip—9 2 pvip—9
3 pv@—p) (3 pv@-p
4 p—>(P—9 4 rp>FP—9
W/Page 13 SPACE FOR ROUGH WORK / T% @14 & T s
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Part IT / MW II
Aptitude Test / fr&far adreror

Directions : (For Q. No. 31 to 33). The problem figure shows the top view of an object. Identify
the correct elevation from amongst the answer figures looking
in the direction of the arrow.

fe9r : (W 31 €33 & @)1 ¥ FIT § [5G g HT SR §9F fo@rr 7 &1 K Bi
f&om a@d g€ ST MFadl ¥ @ SUFT Tel THE v T4 |

Problem Figure / F¥7 37ihid Answer Figures / 3t sFfaa

31.
YL My ML My
T (1) (2) (3) (4)
32.
i (1) (2) () 4)

33. = )é\ r&_‘

T (1) (2) () )

W/Page 14 SPACE FOR ROUGH WORK / % &1 & femg s
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Directions : (For Q. No. 34 to 36). Identify the correct 3-D figure from amongst the answer figures,

which has the same elevation, as given in the problem figure
on the left.

59T : (W34 §36 & fe@ )i 3-D W HIaA § & 39 HPHa H gAY 99 F], THEG
§vg J¥T Pl & faerd! &/

Problem Figure / 997 3fid Answer Figures / 3 sHfaa

. & &
(2) (3)

(1) (4)
35' @ @
(1) (2) (3) (4)
- & &
(1) (2) (3) (4)
Directions : (For Q. No. 37 to 40). Which one of the answer figures is the correct mirror image of
the problem figure with respect to X - X ?
Ader: (7 37 @40 & fog )i ST HFHaal 4 F i1 STHId &1 T4 797 FId FX - X G
T Gel T4 Fhato & 7
Problem Figure / H¥7 3TTHId Answer Figures [ 3t 377?77%?7?
X
" 48 ® ® &
X (1) (2) (3) (4)
W/Page 15 SPACE FOR ROUGH WORK / % & & feu s
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Problem Figure | F¥7 37hfd

38.

39.

40.

X

Answer Figures [/ 3 sHTTa

(1) (2) (3) (4)

(1)

(1)

Directions : (For Q. No. 41 and 42).

fdor: (7 41 3R 492 & @)

Problem Figures [ F¥7 W?ﬁ?ﬁ'

P ¢
& &

(2) (3) (4)

(2)

Which one of the answer figures will complete the sequence of

the three problem figures ?

SR MFTadl 4 @ Bi7-T1 SHlT Ft T F97 3piaan 4 o
& IHTFH (sequence) T & I ?

Answer Figures |/ 3t srHiaar

Szt SN2 a u u u
(1) (2) (3) (4)
P N AN N AN 2] N P AN P g N /Q N
42. > g < ? 3 I S
N 7N 7 N NN g NNV < 7 NN 17
(1) (2) (3) (4)
W/ Page 16 SPACE FOR ROUGH WORK / T% @14 & T s
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Directions : (For Q. No. 43 to 45). Which one of the answer figures shows the correct view of the

3-D problem figure after the problem figure is opened up ?

fAgsr: (W 43 @45 & @)1 3-D ¥¥7 3@fd F Gicid W, ST Hiaql § G Tgl 399

HH-GE?

Problem Figure / 7 37l Answer Figures /| 3t sHfaa

43' @

B I it

(1) (2) (3) “)

44,
(1) (2) (3) (4)
45. . =] = =] C 1 T 1
(1) (2) (3) (4)
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Directions : (For Q. No. 46). One of the following answer figures is hidden in the problem figure

in the same size and direction. Select the correct one.
fREor : (W 46 & fomm )1 74 & 7 I HfaT ' G UF Hd 79 IR 9 F gHT F7 G
TvT FHIT g9 &1 HiT-d G & ghAwy

Problem Figure / ¥¥7 3&ld Answer Figures / 3¢ GWW

46. [T
i i == ] m i

= 7_[ (1) (2) (3) (4)
Directions : (For Q. No. 47 to 50). The 3-D figure shows the view of an object. Identify the correct
top view from amongst the answer figures.
9T : (W 47 @50 % form )i 3-D J¥7 3Fld § T 9% & TF 399 &I 3G TN &1 TGF
el ST 99, I AFad 4 T 19 |
Problem Figure | F¥7 3Thld Answer Figures / 3t¥ aﬂ?ﬁ?ﬁ
47.
@ R AR
(1) (2) (3) (4)
48.
i i Il
(1) (2) (3) (4)
49,
@ (1) (2) (3) (4)
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Problem Figure | 997 3T#id Answer Figures | St STHIda

50.
(1) (2) (3) (4)

Directions : (For Q. No. 51 to 53). The 3-D problem figure shows a view of an object. Identify
the correct front view, from amongst the answer figures, looking
in the direction of arrow.

fder : (9. 51 §53 & fema )i 3-D 97 31Ffd § U 9% & UF g9 # [e@ar &1 ak
&1 ool 4 3@d §T 39F el 9@ §¥9 i S Fad 5 9
TEN T |

Problem Figure /| F¥7 3fHld Answer Figures / 3t Jﬂ?ﬁ?ﬁ

51.
(1) (2) (3) 4)
P
52.
I | |
(1) (2) (3) 4)
77
53.
iy r by gy
(1) (2) (3) 4)
#7
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Directions : (For Q. No. 54 to 56). The 3-D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking
in the direction of arrow.

39T : (W54 @56 & @)1 3-D F¥7 pld 4 UF a5 & OF g9 i fo@ran 7w &1 an
%1 o9 4 3@d §U 399 el GHE 5v9 Hl IR AFlaA 5 4
TENT |
Problem Figure / ¥97 37Fld Answer Figures / 3¢ W?ﬁ?ﬁ
54.
i — i =
(1) (2) (3) (4)
™
o | [] | [] | [] | []
(1) (2) (3) (4)
™
56.
(1) (2) (3) (4)
B
Directions : (For Q. No. 57 to 60). The problem figure shows the top view of objects. Looking in

the direction of the arrow, identify the correct elevation, from
amongst the answer figures.

39T : (.57 T60 & fo1@) 1 T3 371hla § aqsll F1 FRI ¥ @ T e aiw F e g
30 gV SR MFaal § @ Gel TgE gvF TeHnd |

Problem Figure / F¥7 37ihid Answer Figures [ 3t 377?77%?7?
57.
o il ol ek
oJf% T
A (1) (2) (3) (4)
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Problem Figure / 997 3fid Answer Figures | St STHIda

ol Pl pl mell e

) (1) ) 3) ()

58.

59,

Mt i s i

199 mh i oA AN

!

Directions : (For Q. No. 61). From the top view given in the problem figure identify the correct

3-D figure from amongst the answer figures.

f[Eor: (761 & @)1 g TET 3T STHId F FWT §¥F HI G&l 3-D I pfaq 7 9
T3 |

Problem Figure /| F¥7 3fHld Answer Figures / 3¢ W}"ﬁ?ﬁ

||
61. —‘
(1) (2) (3) (4)
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Directions : (For Q. No. 62 and 63). The problem figure shows the elevation of an object. Identify

the correct top view from amongst the answer figures.

AT : (W 62 3iv63 & fam )i Tv PG H fFdl a%g # TG 599 fe@m T 81 3w
3THiadl 4 G $9FT T8l S 99 e |

Problem Figure / ¥97 37FId Answer Figures / 3ti¥ Gﬂ?ﬁ?ﬁ
D O QO 3
I I | |

(1) (2) (3) 4)

63.

I I I I

(1) (2) (3) 4)

Directions : (For Q. No. 64 and 65). Find the odd figure out of the problem figures given below.

fdor : (W 64 365 & fomw )i 1 51 T g9 SuFiad 4 @ v snFfa gE=nd |

) \ / @ <§>
(1) (2) (3) (4)

65.

[ /\ [/

(1) (2) (3) (4)
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66. Which color is obtained by mixing red and | 66. @& T& dial U1 fHe™ & i 91 U7 9701 8 2
yellow colors ?
(1) Purple (1) ot
(2) Pink (2) T
(3) Orange @) gald
(4) Brown (4) @
67. Salim Chisti mosque is located in : 67. T fodt o1 A el W feera #72
(1) Gwalior (1) TEreE
(2) Fatehpur Sikri (2) hdeqX ol
(3) Hyderabad (3) TR
(4) Delhi (4) Teoeit
68. Temperature of the Earth due to the | 68. %l 1 dIYHM ‘U 29 9vE' H :
‘Greenhouse Effect’ :
(1) Increases (1) wea®
(2) Decreases (2) ¥l T
(3) Remains constant (3) TS 99 &l ©
(4) Keeps increasing/decreasing (4) edl/ =S T g
69. Vertical sun protectors over wall openings | 69. Tagst % @ oM s [ Hww Y fowii
help in cutting off summer sun rays on : =1 fore foen o wfred €2
(1) South side (1) &1 st TH
(2) West side (2) uf¥=m =t WH
(3) North side (3) W H TH
(4) On all sides (4) T
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70. Which one of the following is not a load | 70. Tr=fafEd & @ %M 91 ol § 9 ISH =frel
bearing component in a building ? feem i 82
(1) Column (1) %™
(2) Beam (2) ¥R
(3) Partition wall (3) faursH dEr
(4) Concrete floor slab (4) hshie Tl &Y g
71. Which type of roof will provide maximum | 71. f=fafea # =@ @ a v #§ T fafezo
protection from heat radiation in a ¥ gay 3feh g < ?
building ?
(1) Painted aluminium sheeting (1) it et 9=
(2) Concrete slab with plaster (2) “hshiE UfCAT TR & 91
(3) Concrete slab with mud and brick (3) <hshie fea fHgt wd 320 i TECH *F
tiles g
(4) Concrete slab, water proofed and (4) S WfaE, SEESd g TH TS FohIT
covered with a roof garden gfedn
72. Ellora temples are : 72. Tl & Hid :
(1) Made in marble (1) TR A T
(2)  Built in sandstone (2) T T TER H T
(3) Cut out of rock () TERHAPEFE
(4) Built in wood (4) RS ATAE
73. Gol Gumbaj of Bijapur is : 73. SR o1 Tiiel T ¢
(1) A Fort (1) U foren g
(2) A Mausoleum (2) TH A& T
(3) A Palace (3) T& "ed®
(4) A Mosque (4) TH AT T
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74. Buland Darwaza is located in : 74. dciq otarsn fea § froam 2?2
(1) Fatehpur Sikri (1) HdeQR fail
(2) Red Fort (2) <A fohem
(3) Agra Fort (3) AT = Tehem
(4) Golconda (4) TS
75. BigBenisa: 75. farsm=®ng?
(1) Clock Tower (1) ®&=
(2) Palace (2) Wed
(3) Mosque (3) wf&R
(4) Temple (4) dfR
76. IGBC stands for : 76. STESISE. fohE T Tdieh & 2
(1) International Great Beautiful City (1) AU S Yo T
(2) Indian Green Building Council (2) W B Had qRug
(3) Indian Great Building Center (3) WA oS Wold g
(4) Indian Government Biological (4) YR GERR S g
Center
77. Solar energy is converted to electrical | 77. ¥ st ford 9 fosreft # uftafda gt €2
energy by :
(1) Photovoltaic cells (1) BREEES Hc
(2) Electro magnets (2) Toga greni
(3) Bio technology (3) <iE Ui
(4) Rain water (4) =S 61 9L
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78. The ruins of Hampi are located in which | 78. T & TR T o A feem €2
State ?
(1) Karnataka (1) HARH
(2) Andhra Pradesh (2) Y Y
(3) Kerala (3) wHHA
(4) Tamil Nadu (4) dHeEATg
79. What is Venice famous for ? 79. o9 frg & fog AemER 82
(1) Canals (1) =
(2) Mountains (2) THd
(3) Valleys (3) =feAr
(4) Springs (4) =¥
80. Pyramids are located in : 80. Taufhe #el fe@ €2
(1) Rome (1) A
(2) Egypt (2 sh=
(3) Greece 3) WH
(4) Ethiopia (4) SR
-00o0- -o0o0-
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Read the following instructions carefully :

Frefefaa AR T g ug

1. Part1 has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Part II (Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct response. Part III consists of 2 questions
carrying 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part I and Part I, ¥4 (one-fourth) marks of
the total marks allotted to the question (i.e. 1 mark)
would be deducted from the total score. No deduction
from the total score, however, will be made if no response
is indicated for an item in the Answer Sheet.

2. Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances (except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

3. The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to be done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work’. This space is given at the bottom of
each page and in five pages (Page 27-31) at the end of
the booklet.

4. Each candidate must show on demand his/her Admit
Card to the Invigilator.

5. No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

6. On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test-Part I
& Il and Drawing Sheet of Aptitude Test-Part III to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have handed over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - Part 1 & II.

7. Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) are not
allowed.

8. The candidates are governed by all Rules and
Regulations of the Examination body with regard to
their conduct in the Examination Hall. All cases of
unfair means will be dealt with as per the Rules and
Regulations of the Examination body.

9. No partof the Test Booklet, Answer Sheet and Drawing
Sheet shall be detached/folded or defaced under any
circumstances.

10. The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
room/ hall.

:

10.

11.

qiereRt & W 1 § 7110 < 30 FEIIE U9 § e e
T F T SR F o = (4) oFF fAvita fFa €
T 1 ( 3AF%Ta wiiaror) § 50 S8 994 § 9 1o
TE I oAU = (4) 3 € | IR F WA H 2 99
¥ foas faw 70 si fuifia 1 98 wea s6f 9den gfea
% 3L W TRY e W HH © | T 99 =g FHuifa
3 T F @ sifhg €1 91 1 38R 9 11§ v
TeTd I & fau 39 yvd & fau fuifa Fa sl § 9
14 (Th-TITE ) 9 (374 1 3iF) T 4 & 9 Fe
fore smdi | afg S uA o foredt w1 1S Swv e fean
TR, @ F A F A HE e T e S |

e gfdeh], ST 99 T 7 e 1 SAFYEs E
=, Fifs faeh ot aRfeafs § (e e gfa T
I F FIS § e Ft fafd w1 Srew) <ol W
yfaenT SueTsy el Bl S |
IR Fl I @ W FE ot & FE A1 faar =1 F=m
T Tt A Tl & | Gt 7oA Ue T s, wie
qiges § fruifta s < o ‘v =+ & foag sme’ g
HifRd 8, TCE Toral SR | 9% ST Yo O W A
3R qen qfae % 3ia § uie el (758 27-31) W &
I

T SH T T g el e i 19 yow e femnd |

arefterer A1 Fiere =t fave stqafa & famn ig sreeff
379 TH A DTS |

Tten gHE g 9y, srvmef fAdtersRl &1 sTud
T - 9T 1'Ta A Ieqr - T 1151 3°) 09 Td
3Tfeia gIaTor- AT 111 <6t Qe Wi 24 iR Sufeufa o
TR 3TYA TEAIER SR A o IET @ WA T S1E |
TH 1 W IE /A ST o 3R 99 T SR 90 e
Sitere T & f9Y STfEa ATy TEE st Soit S /e S |
el 319 A T & S w1 From ufverf o |
fou o T W orava emd L genfy, sreaeff erue
TfoTa W S1eia TSI - 9T 1UE 113t SR gt i
o S HHA ¥

TAaSITeR/ gEaaTeTd iiehers a1 SET I (S %
Thel, &Y 3a1e) 1 94 afstd & |

et B1et H =R & Tou eraed uden frama & fami we
Tafadi grao frafoa €| srfaa Tem i & 9 ame
w1 Segen wdten Freem & Fremi wa fafadi & stgam dm
fordlt oft fearfa o wian gfcaent, ST 93 w9 g7 3t 1
HE off WFT T o T TR S SR 9 g HS S
31eqa farmret s |

Tte giaeht, I UA TS e Ve | < 71 udtan g
T ot et Tt ol | g o | off foad |
aTvaell G IR et/ Eel W Ha9T SRS oh STerar ferdt
WehTT 2T UT3d \dt, Hfed a1 safaiad, s 1
ufeiaT, U, BT Wi, T2 i SqahuT a1 fadt
31 W ol T ahT o ST 9T SUART i sht STTHIT
& T
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